13.7 (2) Homework
pgs. 640 - 641 #13, 16, 20, 23, 25, 26

13 0P |'s+nh3ml’ +v the X ays

and the y axis o 5N o)
3
' - . 7l
a. Find an e,tbwahon of the circle 30) \

(x'a)’r(q-3)1=q
b, Find the area of the shaded rcz.én

AU: 3.3=9
A =A4m
sec~ T_F
Aehad = - 1]

#16 The ‘:o'ml' (13,
Q. Wrike an ecbuahon of crde

r= J(b)"f(;z" o = 1o s
\W»((q'ﬁl:wo?
b Avrea [l:!j_—ﬂj-
c. Chrcumference \3~:0_£7 Use midpt

d. coordanales of Foml—s &'redﬂ\a appoﬁk (‘3.4) (-7
Lope Form, an eguahon of

Wwrike, 1~ peint stop
¢ HnL hne *r?am ent tv the amk UB."I)

im=-3 |y 1=-2 (1) | .
f. listunce betweer (14,0) and co'hl-f/ ‘:l vadius
% oUS('m«u \o(/{—ween (1q, ¢) ond circle 13-10 =@




2 'L‘ C: (4 '2)
#20 Consider thecircle represented by (X-4) "'l‘j‘“’) =50 (: 5\}2

Let P be the center of the circleand T be a point on chord AB such that PT is

perpendicular to AB. If A =(11,-1) and B = (5, -9) what is,
_ A 1) )
a P2 = {9+ 3)?* (& (8,75
= 2§ ’—El ®
b. m< TPA p
45 B
(S"q)
#23 Find the distance between the lines represented by:
y=2x-4andy =2x +7
PoT.: “Lx-l=2x+T
-§= 5x
2
- -lb =3
X = = Y=z
d= fo+_h *rl)l
‘04 9(5'
L’-,l)( +3
C'.('QO"")

2 rl
425 Giventhecirclesrepresented by: (X +a) + (y-4) =52
ep y Y .:2(73

and
(,x-t?.)’\ (9-3)1_. 13 C: (|z,3)
a Find the length of the corriqlgs{]ﬁ gentﬂg r: \ﬁé
/ A= (@’ ?
d=wz

2
s (3013) = ()
x%+ N]=442
x2- 325 |x=563]



a. Common external tangent

#26

x2+(13)’= (Yq42)*
X H13 =442
x = 429

F(: «29 \

/

Find the area of the quadrilateral with vertices at (-3,2), (15,6), (7,12), and (-7,8)

-3, 2 A=+ (184150 +5b +-14) - (30 +#2 +-84 +-2.'+),
15 b
T) 12 = —; \ (aw‘f)"(—%)’
-1, §
-3, 2 = |[120 "gb\odaw PM&‘H’\OJ"
op

29 y Ayeck =220

= 220

1 A%uad -,

36 ~ 3%

_‘2/——0-7 = -Z"'

A -29

|




